Question 1. Simplify the following expression:
49 - 572
71,51
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Question 2.
Solve the following equation:

A)z=11 B)z=%2% C)z=—4 D)z =1

13

E)z=9



Question 3. Determine which of the expressions below is equal to:

20 — 1
2202 —9x + 4
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Question 4 Describe the set of all solutions to the quadratic inequality:

2% 4+4r—-3<3

A) (-1,3) B)(=3,1) C)[-1.3] D)[-3} E)(—oc0,-3)and (1,00)



Question 5 Find all values of x satisfying the following inequality:
3 — 95
T —9

A) (—o00,5) and (12,00)  B) (—00,—3) and (—1,00) C) (5,15) D) (-15,5) E)
(_375)

>4

Question 6 Find all values of z satisfying the following inequality:
|z —20] <6

A) [14,26) B) (—o0,14) and (26,00) C) (=3,14) D) (=14,3) E) [3,14]



Question 7.
Solve:

(x—12)*=16

A)8,16 B)7,14 C)812 D)-88 E)3,14

Question 8.
Solve:

(x+2)? =14

A)r=3,-8 B)z=-2+/14 Clz=-1+V/12 D)az=24+7

no solutions.

E) There are



Question 9. Simplify the following expression:

3 — dx
?2+x—2
z+3 z(8x—3) 749 10z+3
A) (z—3)(z+1)(z+2) B) z+1 C) (z—3)(z+1)(z+2) D) (z—3)(z+1)

Question 10.

A farmer plans to fence a rectangular region adjacent to a river. The rancher has 100
meters of fence. No fencing is needed along the river. Write the area of the fenced in region
A(z) as a function of x, the length of the side parallel to the river.

A) A(:L‘) _ 100127902 B)A(x) _ 100fo C)A(x) _ 100352—3:zc2 D) A(:I:) _ 1009c4—3ac2
E) A(Z’) — 501‘2—362



